PI.	ANT	ENTER	PRISES	PRODUCTION

	<u> </u>	<u>'LANI EN</u>	<u>LERPRISES PROL</u>	DUCTION		
Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
COTTON						
Lint - Non-irrigated		754.0	750.00	565,500	lbs.	\$311,025
Seed - Non-irrigated		754.0	1,200.00	904,800	lbs.	\$45,240
Cotton (Total)	*	754.0				\$356,265
FORESTRY						
Pulpwood						
Pine				51,163	cords	
Hardwood				23,606	cords	
Pulpwood (Total)				74,769		
Chip & Saw				2,430	cords	
Saw Timber						
Pine				23,911,475		
Hardwood				3,833,317	board feet	
Saw Timber (Total)				27,744,792		
Total Pulpwood, Chip & Saw,	,					\$18,862,080
Saw Timber FOB Mill						
Total Forestry Stumpage						\$11,568,632
Christmas Trees	*			1,100	trees	\$44,000
Forestry (Total)						\$18,906,080
FEED GRAINS						
Corn	*	690.0	85.00	58,650		\$133,136
Grain Sorghum	*	465.0	40.00	18,600	cwt.	\$67,146
Feed Grains (Total)		1,155.0				\$200,282
HAY FOR SALE						
Grass	110	7,500.0	2.00	15,000	tons	\$750,000
Hay for Sale (Total)		7,500.0				\$750,000
HOME GARDENS	4,500					\$1,350,000
NURSERY CROPS						

PLANT ENTERPRISES PRODUCTION

	lumber of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
NURSERY CROPS						
Floraculture & Bedding	*				acre	\$25,000
Plants						
Woody Ornamentals	*				acre	\$800,000
Nursery Crops (Total)						\$825,000
RICE	150	52,911.0	55.00	2,910,105	cwt.	\$23,280,840
SOYBEANS	85	30,751.0	20.00	615,020	bu.	\$3,819,274
SUGARCANE						
Raw Sugar	8	1,680.0	3,630.00	6,098,400	lbs.	\$740,956
Molasses		1,680.0	109.00	183,120	gal.	\$26,552
Sugarcane (Total)		1,680.0				\$767,508
SWEET POTATOES						
Canning				26,951		\$53,902
Fresh				32,940		\$461,160
Sweet Potatoes (Total)	*	226.0	265.00	59,890	bu. (50 lbs.)	\$515,062
WHEAT	10	2,555.0	55.00	140,525	bu.	\$456,706
TOTAL ALL PLANT ENTERP	RISES					\$51,227,017

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
AQUACULTURE					
Crawfish (Farm)	110	9,350 Acres in Prod.	6,077,500	lbs.	\$3,646,500
Alligators (Farm)			190,078	ft.	\$3,231,329
Aquaculture (Total)					\$6,877,829
FUR ANIMALS			2,196	pelts	\$16,119
ALLIGATORS (WILD)			427	ft.	\$8,978

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
HUNTING LEASES						
Waterfowl	60	21,000	No. Acres Leased		acre	\$1,050,000
All Other Game	175	70,000	No. Acres Leased		acre	\$385,000
Hunting Leases (Total)						\$1,435,000
HONEY	*	50	No. Hives	5,000	lbs.	\$3,700
TOTAL ALL FISHERIES	& WILDLIFE ENTERPRISES					\$8,341,626

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			1,602	head	\$709,510
400-500 lbs.			2,435	head	\$1,229,212
500-600 lbs.			2,051	head	\$1,146,663
600-700 lbs.			321	head	\$204,477
Steer Calves (Total)					\$3,289,862
Heifer Calves					
300-400 lbs.			1,602	head	\$645,870
400-500 lbs.			2,435	head	\$1,132,458
500-600 lbs.			2,051	head	\$1,082,590
600-700 lbs.			321	head	\$191,958
Heifer Calves (Total)					\$3,052,876
Yearling Cattle					
600-700 lbs.			2,242	head	\$1,428,154
					Page 3 of 5

ANIMAL ENTERPRISES PRODUCTION

	ANIMA	<u>AL ENTERPRISE</u>	ANIMAL ENTERPRISES PRODUCTION							
Animal	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value				
CATTLE & CALVES						_				
700-800 lbs.				962	head	\$663,780				
Yearling Cattle (Total)						\$2,091,934				
Cow-Calf Pairs				1,275	pair	\$1,211,250				
Cull Cows				1,093		\$448,824				
Cull Bulls				182	head	\$167,158				
Cattle & Calves (Total)	305	18,207	No. Cows			\$10,261,903				
HORSES		•								
Brood Mares										
Race Horses	10	120	No. Brood Mares	96	head	\$768,000				
Show Horses	*	35	No. Brood Mares	s 26	head	\$91,000				
Recreation Horses	100	250	No. Brood Mares	225	head	\$337,500				
Brood Mares (Total)						\$1,196,500				
Stud Fees										
Race Horses		6	No. Stallions	300	mares bred	\$600,000				
Show Horses		4	No. Stallions	160	mares bred	\$240,000				
Recreation Horses		20	No. Stallions	800	mares bred	\$160,000				
Stud Fees (Total)						\$1,000,000				
Race Horses	20			50	head	\$500,000				
Show Horses	20			50	head	\$200,000				
Recreation Horses	500			1,500	head	\$2,250,000				
Horses (Total)						\$5,146,500				
POULTRY										
Broilers	8			4,800	lbs.	\$3,600				
Edible Eggs	15	25	No. Hens	4,500	doz. eggs sold	\$3,780				
Cull Hens				2,000	lbs.	\$300				
Poultry (Total)						\$7,680				
SHEEP										

ANIMAL ENTERPRISES PRODUC	("TION]	
---------------------------	---------	--

	Number of	Units of	Total	Units of	Gross Farm
Animal	Producers	Production	Production	Measure	Value
SHEEP					
Wool		547 No. Sheare	ed 27	cwt.	\$8
Slaughter Lambs			70	head	\$8,531
Feeder Lambs			86	head	\$5,160
Show Lambs			125	head	\$34,375
Stocker Sheep			23	head	\$1,725
Cull Sheep			14	head	\$770
Sheep (Total)	7	243 No.Breedin	ng		\$50,569
		Ewes			
GOATS					
Show Goats			55	head	\$10,175
Slaughter Goats			294	head	\$30,870
Stocker Goats			186	head	\$15,810
Cull Goats			24	head	\$1,440
Goats (Total)	12	428 No. Does			\$58,295
SWINE					
Show Pigs			75	head	\$24,750
Feeder Pigs			116	head	\$5,336
Slaughter Hogs			49	head	\$7,644
Culls			4	head	\$448
Swine (Total)	*	18 No. Sows			\$38,178
TOTAL ALL ANIMAL EN	NTERPRISES				\$15,563,125
EVANGELINE PARIS	H TOTAL				\$75,131,768